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often difficult for to decide whether A or B . In my opinion,



A is always better. Some students dont like B . First, they think

because . Second, . Third, . The
Incomparable advantage of A is that .
First, . Second, .Third, .l regard A
as a precious opportunity for it is the best way of . And
| confidently believe that doolgoodoodo 2

DO0000000 3.0000 Those who prefer A have their
own reasons,while some other people prefer B . As for me ,both A
and B have merits and demerits. First and foremost,

Moreover, . Last but not least, . On the
contrary . In addition, .What’ sthe
commonest, Either ora gives

1 believe OO00000:10 People’ s

views onl] vary from person to person. Some hold that[] .
However, othersbelievethatl . 0 OO0 000000 od.od
Jo00.00000000000 20 People may have
differentopinionson] D0 OO0 00 OO0O0O0O0OO.3

] Attitudes towards (drugs) vary from person to person. [ [ [ [
O0O00000O0O0O. 40 There are different opinions among
peopleastol] OO 0.0 0O 0OOOMOMOMOO. 50 Different people
hold different attitudes toward (failure). O (U O)O O O O O O O
0 O.0 00O 10 Taking all these factors into consideration, we
naturally come to the conclusionthat] DO OO0 0O OO0OO
0,0000000000 20 Taking into account all these
factors, we may reasonably come to the conclusion thatld 0O O O [
DOo000,0000000000000 30 Hence/Therefore,



we’ d better come to the conclusion thatll O U ,0 O O 0O O O O
00O 0O 0O 40 There is no doubt that (job-hopping) has its
drawbacksaswellasmerits. O 0 OO ,000000O000.5

(I All'in all, we cannot live without[d But at the same time we must
try to find out new ways to cope with the problems that would arise.
Jo,00doudodooo.ooo,0boooobooon
JO000o0o0oooodon.obUudodalike,
similarly, likewise, in the same way, in the same manner, equally. [
OO 00000 10 The advantage far outweigh the disadvantages.
2] The advantages of A are much greater than those of B. 3L1 A may
be preferable to B, but A suffers from the disadvantages that... 41 It is
reasonable to maintain that ...but it would be foolish to claim that... 5
[ For all the disadvantages, it has its compensating advantages. 6

[ Like anything else, it has its faults. 70] A and B has several points in
common. 8L1 A bears some resemblances to B. 91 However, the
same is not applicable to B. 10. A and B differ in several ways. 11.
Evidently, it has both negative and positive effects. 12. People used to
think ..., but things are different now. 13. The same is true of B. 14.
Wondering as A is ,it has its drawbacks. 15. It is true that A ..., but
the chief faults (obvious defects )are... 1 O O O O 0O O 0O OO 1.
O OO0 O000000000000 She had said what it was
necessary to say. 2. [ O O OJ O Itis not who rules us that is
important, buthow herulesus. 3."Al O OO0 O "0 "0 OO O
itself"(very O O O )J He was all gentlenessto her. 4. 0 00 O OO [

O 0O0O00O0O Acrimeisacrime acrime. 5. "something(much)of"
[ "nothing(little)of" "something of"J [ [J "to some extent"[] [J [
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o"o"uooo™oooo"o"uo"d "muchof*o "o "
O"notmuchof'0 0 O"O 0O O"U "D O O " "little of" O O "0
[ O "0 something like 0O "0 O O O O O O " They say that he
had no university education, but he seems to be something of a
scholar. 100Test D U OO0 OO0 ooooooooo
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